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Tus—a3l / Section-A

U1 TEADIUD W —
Multiple Type Questions -
Q) o AR ol Preamare” 9 Rigia e fagre T e (V2)
(@) st @ e @ Yo @  frfbr
“Stop and Go Determinism” which scholar has given this theory? '
(A) Blache (B) Huntington (C) Ratzel (D) Griffith Taylor
(i) Aa e FT Rl 8 - (2)
(@) wmwfe uRad @ fomes aRadE
@) ToneTE aRadd @ T A FEg
Human development means -
(A) Meaningful change . (B) Developmental change
(C)  Qualitative change (D)  None of the above
(iii) WATH PT IUFY FRD & — (/2)
(1) wETIRAT @) wpfae faug|
@ SoAifas Susd (@) M P dER AW
Pull factor of Migration is -
(A) Epidemics : (B)  Natural disasters
(C) Political turmoil (D)  Better job opportunities
(iv) FraEeT o TR @ HR B W fear T, 9% ® - 7))
(@) ohaq frafe oY @ < PN
(@) e Py @) BN P
The type of agriculture to which ‘Kolkhoz’ name was given is -
(A)  Subsistence agriculture (B)  Horticulture
(C) Collective farming ' o i i
)  faf gel @1 R e e e (D) Co-operative farming E E -
(@) urfe &3 , A
- @ s &=
(7) g & (&) wqefs em [=]R"
Manufacturing industry is included in which sector? ]
& T
(D)  Quaternary sector -
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(vi) WWWWW%%?

@) TRuH @) ol s
Where the most dense rail network is fo ¥ (®)  amre ;1 @  sifefemr # (V2)

hdin the world?

(A) Europe (B) ;
.e A
(vii) faga &1 Taifden AT Somnf m‘:;]a-\q-[ ¥ (©  Africa (D) Australia
@) I Iredifesw TS A - (2)

(a) WW-%HW
(@) <Rl waid w ot Mgl

() <Rl seaiRe wid ap | =] [=]

Which is the busiest waterway in the world?
(A)  The Northern Atlantic Sea Route . E :
(B)  The Mediterranean — Indian Ocean Sea Route
(C)  The Southem Pacific Sea Route
(D)  The Southern Atlantic Sea Route
(viii) T $T FAAD STTHEAT T9eq are W9y & — ‘
(@) ufRREw Twe @ (@) R uew @ fer ”

The state with the highest population density in India is -

. %ﬂ m?gal ag:)qﬂ g;aga o (C)  Uttar Pradesh (D)  Bihar
R | - @
, @ e @ e @ =gi®
Which activity mainly takes place in rural settlements?
(A) Primary (B) Secondary (C) Tertiary D) Quaternary
x) O R UgEE A Gk oA Sris fa Irew # =eman o W@ 87 ()
@)  TorReT @ eRamon (|) o e @ afeg
In which state “Neeru-Meeru” programme related to watershed management is being run?
(A) Rajasthan (B)  Haryana (C) Andhra Pradesh (D) Tamil Nadu
xi) WeRE FEE &1 G E — (Vo)

@) sreferaver @ faf= d9ext o1 e
@ &= ey & fawr a1 SurT

(@) uRagd Sred # &3 3R

@ T &3l o1 e

Regional planning relates to -

(A) Development of various sectors of economy
(B)  Area specific approach of development

(C) Area differences in water system transportation

(D) Development of rural areas

(xii) Preferad # & P I a9 BT T RO &7 | - )
(@) o T | @ R
(@ ety agE (&) g w [=] 4[]

Which of the following is a cause of acid rain?

(A) Water pollution
(C) Noise pollution

(B) Latl1(|i pol]ution E :
(D)  Air pollution
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¥2  Rew wr @ i iR —
Fill in the blanks -

(1)

(i) FTSNT H BIBT @B FTAT BT oo HEd E |
Coffee plamaFions in Brazil are called ..........cccoounieniniiirceece s, :

(i) TRTET BV HIT oo B MHR A ywrfad B ¥ |
Demand for transport is influenced by the $ize 0f ................o.ovueviveiiereecersseereeieiesienae e

(V) e Wﬁﬁﬁﬁ%ﬁ?ﬁﬁﬂ@#ﬂﬁﬁ{ﬂ%@meW%I
b 1 11— route is an early example of long distance trade connecting Rome to China.

(v)  ORARY UF HHG BRADH ARIT B oo foret # Temn mar 2
Arvary Pani Sansad Programme was implemented in ..........ccoccoeeeeinanenens district of Rajasthan,

) R 0G0 = 1o U — weat # ffor fasar mar 21
The Indian Railways System is divided into .......ccccoceeeeennnceininninncnien divisions.

L2 1) S Frdma T A o Rufa # guR @ Gdfoa 2
The cvmesnmummransemss programme deals with improving the condition of river Ganga.

U3 IIfq TS U —

Very Short Answer Type Questions - : E E

() e gRads @ Q) gedl &AM foafag | ;
Name two components of population change. ‘ E :

(i) favg IUR HTeH F@T E?

(i)

A9 faHT UfA9e, 2020 B ITAR Ted TG RBT TIE H oo < wafrfer &

According to the Human Development Report, 2020 high level of human development group has

.................................. countries.

What is World Trade Organization?

“qIE SR B IR ST |

Define “Human Settlement”.
(iv) WRa @ fageh aur @ 31 fagvarg faReg |

Write two features of India’s Foreign Trade.
(v) eafd gEvl & Y R qEEd 87

What do you understand by Noise Pollution?

guvs—d / Section-B

CTERIRI® U3 —

Short Answer Type Questions -
Y4 anfie i & fdl i SueEl @ AW fafae |
Write the names of any three sub-fields of economic geography.
ys e HAv Rigia o1 ST drgd |
Explain the use of Demographic Transition Theory.
U6  SEIEEd ® We i |
Describe outsourcing.
7 ARE SeErl & e B B a1 sgwe U faRag )
Write any two favourable conditions for development of inland waterways.

us VR Al & yRaRi &1 AW ferfag |

Write the names of families of Indian languages.

g9  9Rd @ yddig &= @ e &g dF gea i)

Give any three suggestions for the-development of mountainous regions of India.

g0  URd ¥ SUUE WuR e w e fakag | [=]

Write a note on satellite communication development in India.
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@“@'—_'\”{/ Section-C

Y ITRIHS I —

Long Answer Type Questions -
ﬁﬁrﬁwﬁwm%?agﬁmaeaqummwmaﬁmmml
What is meant by manufacturing? State the characteristics of modern large scale manufacturing.

- ' 31T/ OR
S @ RIft &1 gaifad & a1 8 IR Rt @1 AR 9§ gvis @i |

Write any four factors which influence the location of industries in detail.

Iyt ST WALV BT Ief FAAN gY, S B AN Amil BT g |

50

3rEr / OR

WRAG TS S AT, 2002 P IR fawag gq=d |
Mention any four features of the Indian National Water Policy, 2002.
ARG § Soll & AURWRATT FIdl $T qUH B |
Describe the non-conventional sources of energy in India.

| grerar / OR
e frd Fed &7 IS @ HifE Rl @ enuR W @il aiiga S|
What is mineral? Classify minerals on the basis of chemical and physical properties.

Eus—g / Section-D

e v —
Essay Type Questions -
e fate FY 7 figa aifrey et $RY A gormas [ S|

Make a comparison between intensive subsistence agriculture and extensive commercial grain farming.

3erar/ OR
mﬁmwwﬁwﬁmﬁaﬂm@aﬂﬁ@m%@aﬁwaﬁhaﬁml
Mentioning the main features of commercial livestock rearing describe its major areas.
ARd PR B FHE THERI B U HIY
Describe the main types of Indian agriculture.
3rar/OR
AR HR B TR FT v BT
Describe the problems of Indian agriculture.
- gus—4/Section-E
frvg @ Y A § frafaRed TR B sfEa #fg — @1 09)
@) e @  PuersT @) ded @ fas
Mark the following cities on the outline Map of the World — (Any three)
(A) New York (B) CapeTown (C) London : (D). Sydney

Wﬁwmﬁmmﬁmm—(ﬁs‘ )

(@) @ifa () Efeea (@) (@ @IS
Mark the following ports on the outline Map of India — (Any three) ;
(A) Kochi (B) Haldia " (C) Paradip (D) Kandla

=l

Explain the meaning of rain water harvesting and describe its benefits. E&ﬁ

171
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@

@)
2)

@

@

(2+1=3)

&)
(3)

(12x3=1Y%2)
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